name: <unnamed>
log: C:\NHANES\data\Age Standardization and Population Counts\task lc\adjprev.log
log type: text
opened on: 6 Jan 2014, 08:58:27

****gspecify survey design variables**x*
svyset sdmvpsu [pweight=wtmecdyr], strata(sdmvstra) vce(linearized)

pweight: wtmecdyr
VCE: linearized
Single unit: missing
Strata 1: sdmvstra
SU 1: sdmvpsu
FPC 1: <zero>

svy, subpop(if ridageyr >=20 & ridageyr <.): mean ridageyr, over (race)
(running mean on estimation sample)

Survey: Mean estimation

Number of strata = 28 Number of obs = 21004
Number of PSUs = 57 Population size = 278652243
Subpop. no. obs = 9471
Subpop. size = 198419259
Design df = 29

_subpop 1: race = NH White
__subpop_ 2: race NH Black
_subpop_3: race Mex American
_subpop_ 4: race = Other race/ethn



Linearized

|
Over | Mean Std. Err. [95% Conf. Interval]
_____________ 4+ —

ridageyr |
_subpop_1 | 47.83663 .376492 47.06662 48.60665
_subpop_ 2 | 43.43103 .4551979 42.50005 44.36201
_subpop_3 | 37.95156 .6370793 36.64859 39.25453
_subpop 4 | 42.68304 .8063441 41.03388 44,3322

svy, subpop(if ridageyr >=20 & ridageyr <.): mean ridageyr, over (riagendr)
(running mean on estimation sample)

Survey: Mean estimation

Number of strata = 28 Number of obs = 21004
Number of PSUs = 57 Population size = 278652243
Subpop. no. obs = 9471
Subpop. size = 198419259
Design df = 29
male: riagendr = male
female: riagendr = female
| Linearized
Over | Mean Std. Err. [95% Conf. Interval]
_____________ _I_________________________________________________
ridageyr |

male | 45.23593 .3529394 44.51409 45.95777
female | 46.86465 .3894445 46.06814 47.66115

*age adjusted
svy, subpop (if ridageyr >=20 & ridageyr <.): mean hbpx, stdize(age) stdweight (std wgt)
(running mean on estimation sample)



Survey: Mean estimation

Number of strata =

Number of PSUs
N. of std strata

28
57

9780
189834912
8960
189834912
29

Mean

svy, subpop (if
(running mean on

ridageyr >=20 & ridageyr <.):

Number of obs =
Population size =
Subpop. no. obs =
Subpop. size =
Design df =

Linearized
Std. Err. [95% Conf.

.8380512 27.62928

mean

estimation sample)

Survey: Mean estimation

hbpx,

9780
189834912
8960
189834912
29

Number of strata = 28
Number of PSUs = 57
N. of std strata = 3
male: riagendr
female: riagendr =
Over Mean
hbpx
male 28.32774
female 29.97058

Number of obs =
Population size =
Subpop. no. obs =
Subpop. size =
Design df =
= male
female
Linearized
Std. Err. [95% Conf
1.208328 25.85643
.71261 28.51313

30.79904
31.42803

stdize (age)

stdweight (std wgt)

over (riagendr)



SVY,

subpop (1f ridageyr >=20 & ridageyr <.):

(running mean on estimation sample)

Survey: Mean estimation

mean hbpx,

stdize (age)

9780
189834912
8960
189834912
29

Number of strata = 28 Number of obs =
Number of PSUs = 57 Population size =
N. of std strata = 3 Subpop. no. obs =
Subpop. size =
Design df =
subpop 1l: race = NH White
subpop 2: race = NH Black
subpop 3: race = Mex American
subpop 4: race = Other race/ethn
| Linearized
Over | Mean Std. Err. [95% Conf
_____________ +________________________________________________
hbpx |
subpop 1 | 27.86382 .9713913 25.87711
subpop 2 | 40.86592 1.047152 38.72426
subpop 3 | 26.05415 .9850041 24.039%46
subpop 4 | 30.5625 2.254672 25.95118
svy, subpop(if ridageyr >=20 & ridageyr <.):

(running mean on estimation sample)

Survey: Mean estimation

Number of strata =

Number of PSUs

N. of std strata =

28
57

Number of obs
Population size
Subpop. no. obs
Subpop. size
Design df

mean hbpx,

stdize (age)

9780
189834912
8960
189834912
29

stdweight (std wgt)

stdweight (std wgt)

over (race)

over (riagendr race)



riagendr race

male NH White

male NH Black

male Mex American
male Other race/ethn

[95% Conf.

Interval]

female NH White
female NH Black
female Mex American
female Other race/ethn
Linearized
Mean Std. Err.
27.19036 1.302932
39.66107 1.238574
25.900098 1.411404
27.72626 3.52766
28.19017 .8824827
41.84464 1.480737
25.91492 1.182738
32.06179 2.453954

24.52557

37.1279
23.01433
20.51138
26.38529

38.8162
23.49595
27.04289

*unadjusted
SVYyy,

subpop (if ridageyr >=20 & ridageyr <.):

(running mean on estimation sample)

Survey: Mean estimation

Number of strata

Number of PSUs

28
57

Number of obs
Population size

Subpop.
Subpop.

no. obs
size

mean hbpx

20493
270067896
8960
189834912



svy, subpop (

Design df = 29

Linearized
Mean Std. Err. [95% Conf. Intervall]
29.163 .9816776 27.15524 31.17075
if ridageyr >=20 & ridageyr <.): mean hbpx, over (riagendr)

(running mean on estimation sample)

Survey: Mean e

Number of PSUs

stimation
Number of strata = 28 Number of obs = 20493
= 57 Population size = 270067896
Subpop. no. obs = 8960
Subpop. size = 189834912
Design df = 29

male:
female:

male
female

svy, subpop(if ridageyr >=20 & ridageyr <.): mean hbpx, over (race)

riagendr = male

riagendr = female
Linearized
Mean Std. Err. [95% Conf. Intervall]
27.27205 1.221283 24.77425 29.76986
30.9091 1.068973 28.7228 33.09539

(running mean on estimation sample)

Survey: Mean estimation

Number of strata = 28 Number of obs = 20493



Number of PSUs

svy, subpop (
(running mean

Survey: Mean e

Number of stra
Number of PSUs

= 57 Population size = 270067896
Subpop. no. obs = 8960
Subpop. size = 189834912
Design df = 29
race = NH White
race = NH Black
race = Mex American
race = Other race/ethn
Linearized
Mean Std. Err. [95% Conf. Interval]
29.6593 1.155505 27.29603 32.02257
36.95625 1.51299 33.86183 40.05066
17.14118 1.218031 14.65002 19.63233
25.86597 2.295632 21.17087 30.56106
if ridageyr >=20 & ridageyr <.): mean hbpx, over(riagendr race)
on estimation sample)
stimation
ta = 28 Number of obs 20493
= 57 Population size = 270067896
Subpop. no. obs = 8960
Subpop. size = 189834912
Design df = 29

Over:
_subpop 1:
__subpop_ 2:
__subpop_3:
__subpop 4:
__subpop_5:

riagendr race

male NH White

male NH Black

male Mex American
male Other race/ethn
female NH White



_subpop_ 6: female NH Black
_subpop 7: female Mex American
_subpop 8: female Other race/ethn

| Linearized

Over | Mean Std. Err. [95% Conf. Intervall]
_____________ +________________________________________________

hbpx |
_subpop_1 | 27.75207 1.298662 25.09601 30.40813
subpop 2 | 35.3589 1.543478 32.20213 38.51567
__subpop_3 | 17.2746 1.692196 13.81367 20.73553
subpop 4 | 23.06553 2.843264 17.25041 28.88066
_subpop_5 | 31.46358 1.343947 28.7149 34.21225
subpop 6 | 38.27635 2.136529 33.90666 42.64604
__subpop_7 | 17.00213 1.507995 13.91793 20.08632
subpop_ 8 | 28.13741 3.1949 21.6031 34.67171

log close
name: <unnamed>
log: C:\NHANES\data\Age Standardization and Population Counts\task lc\adjprev.log
log type: text
closed on: 6 Jan 2014, 08:58:31



